REVUE FRANÇAISE D'AUTOMATIQUE, D'INFORMATIQUE ET DE RECHERCHE OPÉRATIONNELLE. RECHERCHE OPÉRATIONNELLE

M. KRAKOWSKI

A renewal theorem for stationary populations

Revue française d'automatique, d'informatique et de recherche opérationnelle. Recherche opérationnelle, tome 6, n° V2 (1972), p. 99-103.

http://www.numdam.org/item?id=RO 1972 6 2 99 0>

© AFCET, 1972, tous droits réservés.

L'accès aux archives de la revue « Revue française d'automatique, d'informatique et de recherche opérationnelle. Recherche opérationnelle » implique l'accord avec les conditions générales d'utilisation (http://www.numdam.org/legal.php). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.



Article numérisé dans le cadre du programme Numérisation de documents anciens mathématiques http://www.numdam.org/

A RENEWAL THEOREM FOR STATIONARY POPULATIONS

par M. Krakowski

Résumé. — Add a newborn baby to a random sample of k individuals out of a stationary population. Then, (a) at the instant of the first death the k survivors are again a randomly and independently distributed sample of the stationary population; (b) the probability density of age at death of the first individual (among the k+1) to depart is the probability density of lifespans for the stationary population; and (c) the expected time till the first death (among the k+1) is an average lifespan divided by k+1.

In demographic and epidemiological applications a stationary population is one whose constant birth rate equals its death rate, and whose age distribution (for very large populations) and mortality function do not depend on calendar time. (It is a stable population of zero growth.) We refer to individuals, births, and deaths, but the population may consist of any objects, births and deaths meaning entries and departures.

Let:

- s(t) = probability that a newborn will survive (at least) to age t; s(0) = 1, of course; $s(x) \rightarrow 0$ as $x \rightarrow \infty$.
- m(t) = mortality function (sometimes called hazard function), i.e. m(t)dt = probability that an individual of age t will die within dt.
- f(t) = lifespan density, i.e. probability density that a newborn will die at age t.
- p(t) = age density of the stationary population, i.e. p(t)dt = fraction of individuals of ages between t and t + dt.
- M =expected lifespan of a newborn.

It is shown in the Appendix that:

- 1) p(t) = p(0)s(t); this relation is used repeatedly in the Proofs.
- 2) f(t) = -s'(t) = -p'(t)/p(0).
- 3) m(t) = -s'(t)/s(t) = -p'(t)/p(t).
- 4) M = 1/p(0); p(0) = birth rate = death rate.
- 5) probability that an individual of age x will survive (at least) t more years is s(x + t)/s(x).

Revue Française d'Automatique, Informatique et Recherche Opérationnelle nº octobre 1972.

Theorem

Let the age density of the stationary population be p(t), its life-span distribution f(t), and the average life-span be M.

Grab a « random sample » of k individuals and add to it a new-born baby. Then:

- a) At the instant of the first death the k survivors are a random sample (1) of the original population;
- b) The probability density that the first death among the k+1 individuals occurs at an age t is f(t);
- c) The expected time till the first death among the k+1 individuals is M/(k+1).

In order to simplify the typography the proof will be carried out for the case k = 1 only, i. e. when a newborn is paired with one random individual (more precisely, a randomly selected individual from the population, the probability of drawing an individual aged t being p(t)). The extension to arbitrary k will be apparent.

Proof of a).

1. The probability that the newborn will still be alive at age t, (i.e. t time units after the pairing) is s(t). The probability density that the random member will die t time units after the pairing is

$$\int_0^\infty p(x) \frac{p(x+t)}{p(x)} m(x+t) \, \mathrm{d}x = -\int_0^\infty p(x+t) \frac{p'(x+t)}{p(x+t)} \, \mathrm{d}x = p(t).$$

Therefore, conditional upon the newborn being the survivor, his age at the time of his partner's death has the probability density s(t)p(t).

2. The probability density of the joint event « newborn will die exactly when random member reaches age t » is

$$\int_0^t p(x) \frac{p(t)}{p(x)} f(t-x) \, \mathrm{d}x = -p(t) \int_0^\infty s'(t-x) \, \mathrm{d}x = p(t) - p(t) s(t).$$

Adding the probability densities of 1. and 2. we get p(t), the age density of a random selection.

⁽¹⁾ That is, the probability density that the ages of the k survivors are t_1 , t_2 , ... t_k is $p(t_1), p(t_2)$... $p(t_k)$ when these survivors are ordered, say, alphabetically; or the joint probability density is $k!p(t_1)p(t_2)$... $p(t_k)$ when their order is immaterial.

Proof of b)

1. The probability density that the newborn will die at the age t and that the random member will then be still alive, is

$$-s'(t)\int_0^\infty p(x)\frac{p(x+t)}{p(x)}\,\mathrm{d}x = -s'(t)\int_t^\infty p(x)\,\mathrm{d}x.$$

2. The probability density that the random member will die at age t while the newborn still survives, is:

$$\int_{0}^{\infty} p(x) \frac{p(t)}{p(x)} \frac{-s'(t)}{s(t)} s(t-x) dx = -s'(t) \int_{0}^{t} p(t-x) dx = -s'(t) \int_{0}^{t} p(x) dx.$$

Adding the probability densities 1. and 2. we find that the density of the random variable « age at which first death occurs », is -s'(t) = f(t); cf. 1). This is the life-span distribution, as stated in the part b) of the Theorem.

The joint survival function of the newborn and the random member, i.e. the probability that both will be alive at time t after the pairing, is

$$S(t) = s(t) \int_0^\infty p(x) \frac{p(x+t)}{p(x)} dx = s(t)[1 - P(t)]; P(t) = \int_0^t p(x) dx.$$

The corresponding probability density of joint life spans is, cf. 1),

$$-S'(t) = -\frac{d}{dt} \{ s(t)[1 - P(t)] \}.$$

Therefore, the expected time till the next death is

$$-\int_{x=0}^{\infty} xd\left\{s(x)[1-P(x)]\right\} =$$

$$-xs(x)[1-P(x)] \Big|_{x=0}^{\infty} + \int_{0}^{\infty} s(x)[1-P(x)] dx$$

$$= -\frac{1}{p(0)} \int_{x=0}^{\infty} [1-P(x)]d[1-P(x)]$$

$$= \frac{-1}{2p(0)} [1-P(x)]^{2} \int_{x=0}^{\infty} = \frac{1}{2p(0)} = M/2, \text{ qed.}$$

APPENDIX

Derivation of Relations 1) through 5)

These relations are classical and can be found in Lotka and Keyfitz (cf. Bibliography), among others. Brief proof outlines are given here for completeness of presentation. p.d. = probability density.

Proof of 5)

The probability that a newborn will survive to age t + x (at least) = probability that ehe will survive till age t, multiplied by the conditional probability that an individual aged t will survive to t + x; thus s(t + x) = [s(t)] [probability of survival till age t + x, conditional upon being of age t]. This is equivalent to 5).

Proof of 1)

The p.d. that an individual will be t gears old t - x gears from now = p.d. that he is x years old now, multiplied by the probability that he will survive from age x till age t. Because of stationarity the first p.d., referring to the time t - x hence, is the same as the p.d. now, i.e. p(t). The second p.d. is p(x). The probability of survival from given age x to age x + t is, using the already proven 5), s(t)/s(x).

Therefore, p(t) = p(x)s(t)/s(x); when $x \to 0$, $s(x) \to 1$, and p(t) = p(0)s(t), q.e.d.

Proof of 2)

The probability that a newborn dies before age t is F(t) = 1 - s(t); therefore the p.d. of lifespan distributions is F'(t) = f(t) = -s'(t), and in view of 1), equals also -p'(t)/p(0).

Proof of 3)

The p.d. of dying exactly at age t equals the survival probability till i, multiplied by the mortality at t. Thus, f(t) = s(t)m(t), or in view of 2 - s'(t) = s(t)m(t). Using 1) it follows that m(t) = -s'(t)/s(t) = -p'(t)/p(t).

$$M = \int_0^\infty x f(x) \, dx = -\int_0^\infty x \, ds(x)$$

= $-xs(x) \int_0^\infty + \int_0^\infty s(x) \, dx = \int_0^\infty p(x) \, dx/p(0) = 1/p(0).$

We assume that $s(x) \to 0$ rapidly enough so that $xs(x) \to 0$.

Revue Française d'Automatique, Informatique et Recherche Opérationnelle

The death rate

$$= \int_0^\infty p(x)m(x) dx = -\int_0^\infty p(x)\frac{p'(x)}{p(x)} dx = -\int_0^\infty dp(x) = p(0) - p(\infty) = p(0).$$

Finally, stationarity implies that birth rate = death rate.

ACKNOWLEDGMENT. I wish to thank my friend and former associate, M. Emanuel Steeg of New Orleans, Louisiana, for the generous contribution of his time and knowledge.

BIBLIOGRAPHY

- [1] LOTKA Alfred J., Elements of Physical Biology, 1925. Reprinted by Dover as Elements of Mathematical Biology.
- [2] LOTKA Alfred J., «Some recent results in population analysis», Journal of American Statistical Association 1938, 33, 164-178.
- [3] KEYFITZ, Nathan Introduction to the Mathematics of Population, 1968. Addison-Wesley, Reading, Mass.